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(factorial.c)

#include <stdio.h>
int factorial(int); /& & &

int main(void) {
for (inti=1;1<=10; i++)
printf("%2d! = %dW#n", i, factorial(i));
return O;

}

int factorial(int number) {
if (number <= 1)
return 1;
else

return (number * factorial(number - 1));
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(rand() Al2)

& &% rand()
o ol&Eol Lin(2lolo] £)E MM FE B
° 0|0|0| A

¢ e -‘.-’;J oIIE'IuF stdlib.h0j] 2|
o i rand()E A 5H2{M---
#mclude <stdlib. h>
® Visual C++0j|A{= == rand()
& 0~ 32767(RAND_MAX=0x7fff)Al0|2] HL oM Uo|z &
o M LIAE CI2H| MA sl
° }kl'=(seed)"(L.;F-’|‘-E CI2A 2tS7] $lol S0l X|™sl= )= 0ff
tH CI= | F O} & i i
° srand(tlme(NULL)) 18] & -> rand() NE| &=
¢ [OfH CIE seed 4= XI™5H7]| 2l &+ time() 0|
® time(NULL) : 19704 12 1 0|= Six|7IX| Aot=! A|2H2 = El
S| = dish
® #include <time.h>
¢ aljM b7IX|e| Li+E A7 |= g
@ rand() % (b-a+1) +a
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(srand.c)
#include <stdlib.h> //rand(), srand()E 7/t of It &
#include <time.h> //time()2 3t & I:‘lil 2 ot
#define MAX 100
[Z 1]
int main(void) { T~
long seconds = (long)time(NULL); 92 19
srand(seconds);

printf("1 ~ %5d AFO[2| === 571:#n", MAX);
for (inti=0;1<5;i++)

printf("%5d ", rand() % MAX + 1);
puts("");

return O;
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(math.c)

#include <stdio.h>
#include <math.h> //a=<t 2t&H Crdot ot=5|H £ o H o
int main(void) {
printf" i iMlE iMAE MEZ(sqrt)wn”);
printf("--------—---c Wn");
for(inti=3;1<7;i++)
printf("%3d %7.1f %9.1f %9.1f¥n", I, pow(i, 2), pow(i, 3), sqrt(i));
printf("Wn"); [
printf("exp(1.0) == %5.21, ", exp(1.0)); i idE idAE M2
printf("pow(2.72, 1.0) == %5.21, ", pow(2.72, 1.0));| o ____
printf("sqrt(49) == %5.2fWn", sqrt(49)); 3 9.0 270 1
printf("abs(-10) == %5d, ", abs(-10)); 4 160 64.0 p)
5 -
6

printf("ceil(7.1) == %5.21, ", ceil(7.1)); 2550 1250 -
printf("floor(6.9) == %5.2fWn", floor(6.9)); 36.0 216.0 g
return O;

} exp(1.0) == 2.72, pow(2.

abs(-10) == 10, ceil(7.1
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(char.c)

- =R J
#include <ctype.h> ;";_,E_ Z _Iﬁgh anter A
y0|d prth;har(char); =P O.:IIE—". _aE Enter: «
Nt mantroic) 212]: x, gk X
Sgn{tf("%*ﬂfﬂjﬂéix) L= LE =X YoM 2.wn");

_I_

printf("= At &= & Enter: ");
scanf("%c", &ch);
getchar(); //enter 7| Y& BFE
if (isalpha(ch))
print2char(ch);
else
printf(" & =: %c¥n", ch);
} while (ch 1= 'x' && ch 1= "'X"); //YHO| x E= XO0|H F=
return O;
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(char.c)

void print2char(char ch) {
if (isupper(ch))

printf(" 4 21: %c, HEh %", ch, tolower(ch));

else
printf("& &: %c, HE: %cWn", ch, toupper(ch));
return;
}
[Z 1]
QOtHl(T Ex) £= CHE A YHSH K.
= At 215 2 Enter: A
A A, HZE 3
= At &1 2 Enter: x
A x, B2k X




g2

11. EXiet £XfeS



g2

=XIE

st 2XE A2 MZEE SHMAM EI|( ‘A’ )
C A0{0jlA| : 1byte AI&2S charZ X|H
2 h=#0| 2ol £7|=l EXF = A1 &=+

o “ 7 OIF( EXIS= LIAH
“C language!”

o QHIEX}, MO{EX}

e U F|0f] =0l 20|X| 2= NULLEZXH( \0’ )7} US.

¢ EXE HE

e CAHNUM= EXIYE XI=HOo| U2 gl

o =X A=EL HIES EXE HEE ALE

e T 0| NULLEXH A0’ )E 200 22X st =XA



B ui (2RIl 7|3}

¢ =AE dEM =12 [ wsaxnse= ]
char a2[] = “abc” ; NULLEXDL 23 &

NULLEXIS
=0{F0f &

& Z2XI°| LIVZ2M =7|3} —
char a1[l={ ‘a’ , ‘b, ‘¢, “\O };

¢ 8l = 27} siiol
sHats] 22 MEEA(4 byte™) B 2| &,

‘a’ ‘b’ ‘c” | 0x00
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(chararray.c)
#include <stdio.h>
. . . 4 —ll_]
int main(void [+
char ((;h - )',A{\',- 4[ 2At Mol £ ] A 65
printf("%c %d#n", ch, ch); JAVA
C language
char java[] = { ')}, 'A", 'V', 'A", "W0' }; gz
printf("%s¥#n", java);

char c[] = "C language”; 4[ 37bK| 2R MO by ]
printf("%sWn", c);

char csharp[5] = "C#";
printf("%sW#n", csharp);

printf("%c%c¥Wn", csharp[0], csharp[1]);
return O;
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(charpointer.c)

#include <stdio.h>
int main(void) {
char *java = "java";

[Z1H]
java java java

printf("%s ", java);

int1 =0;
while (javali]) //while (javali] != "W0")

J

| = 0;

while (*(java + i) I= "W0") //javali]l= *(java + )2t &€=
printf("%c", *(Java + i++));

printf("#n");

javas =AIE &=E 7I2|7|12 Y
//javal0] = 'J'; 2N BIs AR 2

return O;

printf("%c", javali++]); axt ZOIEI 7tE| 7= BRFEE
printf(" ) NULLEXITHR| SjLt 8Lt 2
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(string.c)
#include <stdio.h> ZATH
int main(void) { g g++ Java
char c[] = "C C++ Java"; Java++
printf("%sWn", c);
c[5] = 'WO" C C++ Java

printf("%sWn%s¥n", c, (c + 6));ﬁ EAE 272N = ]

c[51 =" //8 A& Bl =XAt2 v 0| 2AHE =3

char *p = ¢

while (*p = 'W0") 4 2R} Hj QO] 7t YAZ B}L} J
StLt =

printf("%c", *p++); L} BX2 =2
printf("#n");

return O;
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& getchar()
o 2}ol 2! (line buffering) HAl A=
% [enter] 7| Y= WX| buffer0f] X{ZSICI7} [enter] S0{2HM
buffer?| L§ES st/{H0j| =22 buffer2 &
<  FHZMA(interactive)?l &3S 38t M= AL S71s
® #include <stdio.h>

& _getche()
o HIHE AI25IX| 222 2K siLIE ¢=51H HiZ &7}
returngl,
o LIEHEI EXIE ZL|E{0]] FEA]
® #include <conio.h>
& _getchl()
o HIHE AI25IX| o= X} SiLIE Q=51 HI=Z g7}
returngl.

o QIEEl FEXIE Z2LIE{0| EAISIX]| P25
® #include <conio.h>
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(getche.

#include <stdio.h>
#include <conio.h>
Int main(void) {
char ch;
printf("ZAE AZE &

aabbccq
2XE F2H s H =

abc

=AS F5 MOtH &+

HSL Enterg T 2T >>Wn"),

while ((ch = getchar()) !="'q")

putchar(ch);
printf{"#Wn=AtE +E

[OICH &= H =3 >>¥Wn");

while ((ch = _getche()) '= 'q’)

putchar(ch);
printf{("Wn=AtE +2
while ((ch = _getch())
_putch(ch);
printf("Wn");
return O;

| = 'q')
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& scanf(), printf()
o HWEIEX]l %s AlZ
o ZWoZ JIE|=SILIS| EXIY 23 Hh=s
» OIS} M2 2alsl0] QeIsHinl Mot xiFE
o ¢l HiZ ZEXIPU2 =25t SZ10| =H|x|0{ 2100} &
o Ci=3| &I Z2IE 2= EXIY X A0| S7I=
e printf()0IM %10s : 0| 10, =SS
& gets()
® #include <stdio.h>
e [enter] 7|2 5E WIIX| HHO| & st = = X{2|
e Ofx|oiof 2=l A\n’ 7} \O° =2 WAI=I0] HZE
¢ puts()
o S2FJ|MSGIN EOFE HIzEl
<% EOF(End Of File) : #define EOF (-1)

o Xl o| Ofx|gtol] XMEHE 0’ E ‘\n’ E uH|5{0{
off M=

-> puts (B HHo = ALR5HH DLIE{0] & M el

rok
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=X 2|== : scanf(), printf()
(stringput.c)

#define CRT _SECURE_NO_WARNINGS
#include <stdio.h>

int main(void) { =AE MEY SE0 S7 =HH)
char name[20], dept[30]; char *name, *dept;
Al Q= giM

printf("%s", "<t dF A= >> "),

scanf("%s", dept); —
printf("%s", "O| & Y& >> ") S 90| = BoF et ]
scanf("%s", name);

printf("Z 2: %10s %10sWn", dept, name);

-LL

return O;

= = >> computer
= = >> jychoi
Z3%: computer  jychoi
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21 & : gets(), puts()
(gets.c)

#define CRT _SECURE_NO_WARNINGS
#include <stdio.h>

Of

int main(void) { SR NEY 5L B T
char line[101]; char *line S 2= H

printf("UHE ZESIHAHU MEL HO|M (ctrl + 28 FELAL.wn");

while (gets(line))
puts(line); \[ I olo| Qlglof Bt ]

printf("#n");
[ 1]
/*while (gets_s(line, 101)) | 22 ZF25l2{H MEL HO|M (ctrl + 2)
puts(line); abc
printf("#n");*/ abc
return 0; de
} de
N




